Similar Triangles

- Similar triangles are pairs or groups of triangles that have the same shape but are not the same

size.
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- Pairs of triangles are considered similar if:
1) All the angles are the same.
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Ex/ Are the following pairs of triangles similar?
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2) The side lengths are proportional. That is, there is a constant multiple between pairs of matching
sides. This is called the scale factor. % mateh op corresponding
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Ex/ Determine if the following pairs of triangles are similar or not. Expiain your reasoning.
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- If triangles are similar, i.e. AABC ~ AJKL then we know:
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Ex/ Can you draw and label triangle JKL?
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Ex/ Identify if the following pairs of triangles are similar. If so, make a list of the corresponding

information, 2 aml\és same, so all 3
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Practice: Handout - Similar Triangles



